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1.

Moct Test ‘

I —
B)

Aphabets |AIB|C|D|E|F|G|H|I|J]|K|L|[M
Positional value| 1 314|567 |8|9)10|11]12]13
Positional value| 26 | 25 |24 | 23| 22| 21|20 |19 |18 |17 |16 |15 (14

Aphabets | 2 | Y | X |W|V|U|T|S|R|Q|P|O|N

Logic - In this question, we have used Sum of
given alphabetical group position values + 5.
In the following question,

NOTE - N=14,0=15,T=20,E=5
NOTE+5=14+15+20+5+5=59
FOOD - F=6,0=15,0=15,0=15,D=4
FOOD+5=6+15+15+4+5=45
RATIO=18+1+20+9+15 +5
RATIO+5=18+1+20+9+15 +5=68
Hence, 68 is teh correct answer.

(B) Inthe given alternative,

(11y* = 1331
(12)° = 1728
(15)° = 3375

All three have perfect cube numbers which
belong to Integers. But 1024 does not keep the
perfect cube Integer. So, 1024 is an odd number
in the given alternative.

(C) Given equation,

117+9 x5+5-7=31

Interchanging the %, + in the following equation,
117+9+5x5-7=13+25-7=31

Hence , x, + is the correct Answer.

(B) In the following arrangement positional
values of all alphabets are as follows.

Aphabets | A|B|C|D|E|F
2|3|4|5])6
Positional value| 26 | 25 | 24 | 23| 22 | 21
Alphabets ZIY|X|WwlV]vV

HIT|JJ|K|L|M
819101 |12|13
1918117 |16 15|14
S|RIQ|P|O|N

-

Positional value

-“|8|~|l®

Position values of given alphabetical,
A=1,W=23D=4,T=20,G=7,Q=17,and
J=10

SOLUTION

—
A: W: D: T: G Q: J N
| 1l 1l t
3 3 3
Hence, N is the correct answer.

(B) Given series,

-

98
56, 68, 82, ?, 116
[ l 1l 1l ]
12 14 16 18

Hence, 98 is the correct answer.

6. (D) Given condition,

10.

< s

means ‘+’, ‘+’ means X, ‘x’means +, and
‘+’ means -

Using BODMAS the rule,

BODMAS ( Bracket of division Multiplication
Addition Subtraction)
40-30+20+-8x2=40-30+(20+8)x2=
40-30+5=15

Hence, 15 is the correct answer.

(A) Eleven players play cricket with each side.
That way, Five players play Basketball with
each side.

Hence, Five is the correct Answer.

(C) In the given pattern,

64 is the square of 8.

121 is the square of 11.

144 is the square of 12.

Hence, 12 is the correct answer.

(B) Inthe given 4 :68::9 :?

(4)> + 4 =68

(9 + 4 =733

Hence, 733 is the correct answer.

(A) In the following question,

DG KL,RQ, YV, FA, _

+5 +5 +5 +5 +5

| | | I I |
DG, KL, RQ, YV, FA, MF

L l 1l 1l | t
+7 +7 +7 +7 +7

HENCE, MF is the correct answer.
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11. (D) Cornea, Retina, Pupil are the internal part of
the eye But Vision is not the internal part of
eyes.

12. (C) Length ST unit Metre.

Volume SI unit Litre.

13. (D) The least venn diagram of Human beings,

University, Hospital are as follows.

14. (C) In the following arrangement positional
values of all alphabets are as follows.

Aphabets | A|B|C|D|E|F|G|H|I|J]|K|L|M
Positionalvalue| 1 | 2 | 3| 4|5]|6|7|8]|9]|10]1[12]13
Positional value| 26 | 25 | 24 | 23|22 21|20 19|18 (17|16 |15 14
Aphabets | Z | Y| X|[W|V|U|T|S|R|Q|P|[O]|N

Position values of given alphabetical,

%5(?5 llrs K5 1% ES 'Hsj' 5
+
JLNP 1K E-. Jf;

Hence, IKMO the correct answer.
15. (D) The least possible diagram of the given
statement are as follows;

SEe

Conclusions:

1. All Ink are Pen — False (As Some Ink are
Pen and about remaining Ink and Pen we
can not say it Whether it is true or not. So,
it is false)

. Some Pen are Paper — False ( As there is
no direct relation between Pen and Paper
we cannot say whether it is true or not. So,
it is false)

Hence, None of the conclusions are as
follows.

3%

16. (C)

17. (C) E is sitting between B and C.

m e MmO >

D
18. (B) Given data square table,
Hence, D is the opposite of the B.
8 c

A D

N

20. (B) AYKCPY

ALA CAMERA
-\bzz\j/-z--z PPELE
EYJYVW A Y KCP Y

21. (D)

TULSI
AKRAM
BOPSI
PRIYA

Hence, Bopsi is the second person from the
bottom.

22. (A) From the given options, only OWFL
contains a vowel.
Hence, option 2 is the correct answer.

23. (D) On close observation, we can see that fig.
(X) is embedded in figure (d) as shown below.

Zad

Hence, option 4 is the correct answer.
24. (B) The least possible Venn-diagram is :

S
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Conclusions: 28. (D) Some politicians can be contractors and
I. Some Book are Pen - It is not a definite case, candles is a completely different entity, as shown
hence False. below.

II. No Book is Pen - It is not a definite case,

hence False. Q

But both are complementary to each other.
So , Either I or II conclusions follow.
Hence, option 2 is the correct answer.

25. (A)C>D>B>E
C is the tallest among them.

Hence, option 4 is the correct answer.

29. (B)
Logic: All the arrows in the corner side is moving
in clockwise direction.
Star in corner is moving in anti clockwise
direction.
Diagonal line is moving in mirror image form.
Shaded circle is moving alternately on the line.
The next figure in the series will be shown as:

¥
28 A

. . Hence, option 2 is the correct answer.
Hence option 2 is the correct answer. 30. (C) In a plane mirror, a mirror image is a
27. (B) ;242 TiPEDIA reflected duplication of an object that appears
almost identical, but it is reversed in the
direction perpendicular to the mirror surface.
CEFGRKMEKY As an optical effect it results from reflection
Similarly, of substances such as a mirror or water.

Hence, option 1 is the correct answer.

26. (B) As it is punched in a book-folding manner
and then again it gets punched. So, when we open
it up there will be figure as shown in option(b).

1242 +2 2 +2 +2 42 242
REDFMGO LD

AN |
FNQIOHFGT \\\V W
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2
Moct Test ‘

T —

1. (C) BEHK - YVSP — Opposite place value
DGIM - WTQN

2. (C) (Grouping/ayed) Other three are related to

seperation.

4, B)44-6+4+171x19=29
46-6x4+171+ 19
46-24+9=29
29 =29

5. (A)

3. D)

6. (AARTVSU
@ U= di% a1 S e 2
7. BYNQLOMP
Q% @ W WH W O ¥ 2l
8. (D) All except ‘19371’ are prime numbers.
Hence, option D is the correct answer.
9. (B JERUS ALEM
| 3| s3] ]+ 3| 3] 5
URYV X OB P
Logic — +3, -3, +3
CONTRIVED — FLQWUFYBG
10. (A)

35 145 31 128

+1+1 X242 x4+4 x8+8
Answer = 1032

1032

SOLUTION

11.

12.

13.

D)

Only III Conclusion is follow.

Only III Conclusion is True and other are wrong.
(C) In a plane mirror, a mirror image is a re-
flected duplication of an object that appears al-
most identical, but it is reversed in the direction
perpendicular to the mirror surface. As an opti-
cal effect it results from reflection of substances

such as a mirror or water.
Mirror

% Vi

L) | ¥

Hence, option C is the correct answer.

(D) Here the logic is:

The +2 is added to the consonants and a
particular number is assigned to vowels as
AFEIOU — 12345, which become the place value
of the letter in the second group of

letters (eg. as E is coded as 2 which is the place
value of alphabet B.)

So,

B+2=D E—>2=B
G+t2=1 U—>5=E
Similarly,

N+2=P A—>1=A
L+2=N O0—->4=D
Thus NALO — PAND

Hence, option D is the correct answer
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14. (B) BEJS, DGLU, KNSB, UXCL
logic is (+2, +7, +10)

15. (A)
ITTIRM : I\I/IUTO JIII<RN : I?LTP
| +1 | | +1 |
+1 +1
+2 +2
+2 +2
16. (C)

Only I is follow
17. (C)

When the paper is unfolded it will appear as:

Step -1

00 OO
o
<

Step -2

00 0 0
50 <><> 000 <><>

Hence, option C is the correct answer.
18. (A)

Manish
—_— ot

Suresh

Nisha
th

8 1
Total children in row = 19
19. (D) The mirror image:

AppO66Pri43ATE EHTAElthIaanqA
(D)

Hence, option D is the correct answer.

20. (A) The pattern is:

21.

LTI

Z I Y L

Similarly,

A T +— =
N YT
o +—d
o o

—
z +—

Here, opposite letters to the given group of
letters are written in reverse order.
Hence, option A is the correct answer.

©

SUYEM FHL RZ
NAAAN/ NANVAANS
+2 +4 +6 48 +2 +4 +6 +8
LOT UB XZDJR
NAANANS NAAVAN]
+3 45 +1 47 42 +4 +6 +8

22. (B) The pattern follow is

23.

2x4+3x5=23

Similarly, 2 x 3 +5 x4 =26

(©) 961 — (31)*

1521 - (39)*

1369 — (37)*

1856 — Not square is any number

24. (C) RABBIT = 18

25.

Logic — Total Alphabate x 3
AEROPLANE =27

9x3=27

CUP—>3x%x3=9

3 4 5
T 7 76

10 17 26

G+ &+ 5+ 6 +D
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29. (D)

26. (B) | O
As,

+1 -2 +1 -2 +1 -2
27. (D) After observation the given question figure, ROA Y A_ 5

Y x
it is clear that answer figure D has the given ‘\ f |
embedded figure. ;\ s‘-\
»'-f 'r"lll k'] E‘
¥ 5§ W K Q B
Similarly,
1 -2 +1 -2 +1 -2 +1 -
Hence, option D is the correct answer. '}' I f
)
28. (A) After observation the given question /
figure, it is clear that the answer figure (A) will i w
. . . foy
be formed after folding and cutting the given v v *
G I F H M oD P v

paper sheet.

[3) Hence, option D is the correct answer.
30. (A) Archeology is different.
All except Archaeology are the branches of

o

(&)
0 Biology.

Hence, option A is the correct answer.

Hence, option A is the correct answer.
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Moct Test ‘

——_
1. (C)
D C E B A

————
65kg 52kg
D is 65 kg weight.
2. (D)

Factory

3. (A) 8, 4, 8, 32, 256,4096
|><O_5” T Il — Il < [ - I
4. (B) ZXVT:ACEG
Logic — Opposite Albabates
Similarly WTRQ — DGIJ

5. (A) Brother remember birthday date between

15 - 18 March and sister remeber birthday
date between 16 - 19 March only common
date is 17% March birthday.

6. (C)5x8-5+5+1=12
After changed singns
548 x5+5-1=12
5182 1=12

S
5+8-1=12
13-1=12
12 =12

7. (D) FORPCEAMERN
After arrangement
Meanful word is - PERFORMANCE

10.

11.

12.

13.
14.

Relation between person and Nency is mother
and son.

®B) 112 112
DHL PTX: BFIJ: ? NRYV
(ES R (ES R
+12 +12

NRYV is answer

(C) Given 20@7=50; 25@8=62; 35@9=84
20+7=27x2=54-4=50
35+9=44x2=88-4=84

Similarly,
57+12=69%x2=138-4=134

Hence, option (C).

(C) Given 10x6=90; 10x6x3/2=90
and 6x9x3/2=81

Similarly,

18x8x3/2=216.

(A)

Flipkarts

Only first is follow.
(B) ATITUDE - 76, 23, 77, 11, 21, 88, 66

N P=©) FQ)
5 12 115

6\_,/ w_|Z

Opposite face
3 2 6

I |

3 5 1
4 will be opposite of 3 because 3 is comman
number of both dice.
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15.(B)
M N
21. (D) <
K
22. (D) Heart is related to blood
Same as lung is related to oxygen
H sits third to the lefi of A. 23.(O) A B C D E
16. (B)
0 v K
F G H I J
Total = 36
24. (O)
ORDINARY — 12467923
C sits second to the right of F. Similiar
17. (B) RADIAN — 294697
' Select common Albabate
25. (B)32+8-2x12+14
After change sign —
32+8+2-12 x4
=4+2-48
=6-48
=_42
26. (B) 11 : 1210 — 11: 112 (11 — 1) = 1210
E is sitting opposite to D. Similarly
18. DYW>X. X>Y,Y>Z 8:448 =8 :82(8— 1) =448
(Joint in a one raw)
27. (A)

W>X>Y >Z, then, definitely false is Z > W
19. (A) Both A and R are true and R is the correct
explanation of A.
20. (A)
T WE L V E

| | ] =w
20+23+5+124+22+5

Similiar
ELE V EN

L |-
5+ 12+5+ 22+5+14

H.O :- F-75, Manglam City, Kalwar Road, Jhotwara, Jaipur (Raj.), Mob. : 9602514332  [9]
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28.(B) 29. (C)97:4::84:7
) 2 +2 42 9:7=Q2)y=4
| | I [ | v o
HPM, JINO, LLQ, NJS, ?=PHU 8-4=4)r=16
L2 ]2 ] -2l 30. (C) Only III Assumption is follow.
+2 +2 +2 . . .
First two assumption is not related to statement.
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1.

4

Moct Test ‘
T —
WE DI T 1 0O N
+7 |46 |+5 |4 |+3 |2 |41
\4 v v v v v v
L J] N X V1L Q O
R E P UBILTI C
18 [+7 |6 |+5 |+4 |3 [+2 lfl
v v A4 v A4 v v
Z L V Z F O K D
(© 1P=1=0
»_2=6
3 _3=124
$_4=60
55 =120
6 — 6 =210
7 _7=1336

121 is wrong number.
(B) Age of Mahak = 60 years
Age of Praveen = Age of Mahak + 2

60

= — = 30 years

Age of Rajlaxmi = Age of Praveen + 2
30
= 7= 15 years
(D) [(10-6) x 2]>* > (4 x 2)* =64
[(7-7) %2> (0 x2)2=0
[(6-3)x2] > (B x2)=36
[(11 =5) x 2]> > (6 x 2)* = 144
(D) cCasel
Prakash Tara  Sumit Umesh Rohit Amit

r t t r 1 f

Case-1I
Prakash Tara Umesh Sumit Rohit Amit

r tr fr 1 1 f

So, we can't determine.

SOLUTION

10.

11.

12.

13

(B) 175+25+5x4-2
175 +25+5-4x2
7+5-8=4

(D) Dramatist/sTew®rT Teacher/R

Painter/fRrre
B)

10 Meter

10 Meter /3ftex | /HeT

10 Meter

X Q

30 Meter / #iex

o]

20 Meter |

(D) A gym is place where people exercise

similarly-A restaurant is a place where people eat.

Ay o c k E

+1? |+22 11-3’ 1441 +52
L A

K s

+6?

—_——

D

I
+22 11-3!
R

B)20+133+19x17-6
20+7x17-6
20 + 119 - 6 = 133

(C) We used tractor to plough & field.

+12 +42

Ne——=
m+—D>»
— =

But in the given code language we
called car to the tractor.

.(B) 1o 52 2 1 10 7 55 475
e e e e Je e

1 1 1 1 1 1 1
x= X=42 X-+2 X-+2 X-+2 X-#2 X-+
742 X742 X242 X242 X242 X242 X242

H.O :- F-75, Manglam City, Kalwar Road, Jhotwara, Jaipur (Raj.), Mob. : 9602514332
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14. (A) Father / frar
(Only daughter /
e
Maternal Uncle/ s—— Mother /ATaT
T
Girl / SEH o—— Boy / FEHI
15. (A) R
v
S Q
T ]
P
R and U are the neighbour of Q.
16. (©) R
Y
S Q
T ]
[

17. (C) 186 — 18 — 67 = 288
224 227 — 4% = 468

18. (B) 2 320 464 536 572 590 599
| | | | )| I J
+288 +144 N2 +36 +18 +9
[ JI I I I\ J
+2 42 +2 +2 2

19. (B) Zubaida
Chameli —— Qufraat =—— pParvez*
Aaftab*
20. (B) North / T&X
N
Varun
Varun’s l i w E
Shadow
I Arun s

21.

22.

23.

24.

25.

26.

27.

28.

(C) p-M Q H et o H T
p—2,y =2 -2 -2

»L ) o H
p +3’s +3 3 +3

v y—22(8

D) K

0 L
J

(C) A cacophony is an unpleasant sound.
Similarly a stench is an unpleasant smell.

(A) 9x30-28x1

270 -14 x 11
270 - 154
=116°
D)
x
gty XL X X2, X520 X3,
B
(B) Woman ™~
Amit'e—— Amit’s Brother"
Daughter of Amit's Brother ™
The woman is mother of Amit.
(A)
Rght —T— T T 1 1 teft
Charan Eshan Deva Bharat Amit
Mansi Suchi Pratibha Rajlaxmi Neha
Left t t t t I Right
(D) 306 + 17 x 18 — 289 + 35
306

—x18-289+35
17

=8 x18-289+ 35
144 — 289 + 35

-289 + 179
=110

H.O :- F-75, Manglam City, Kalwar Road, Jhotwara, Jaipur (Raj.), Mob. : 9602514332
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29.(D)BUI 1o Twlelelvle 300 (A) , m s e e e w0
P SR SO SO SR 0L, M0,
s |1 |s 2|79 |6 |[8|3]o0 R S A SO I
BRIDGE W_LA_Lme
485760
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5
Moct Test ‘

—

(B) As we know
U is written as C, K is written as H,
Lis writtenas U, N is written as E,
S is written as L, E is written as K and
C is written as N.

So, KNUCKLES = HECNHUKL

(A) We can draw the following picture.

30 B

10

2 15

A
“It is clear from the above figure that point C is
in north-east direction from point A.

Distance between A and C=AC

= J(225+100) =+/325

(A) Logic: take the corresponding letter code

given. As
RIO|C|K|S
812649

and,
MIE|N|T|R
0|1|5]7|8

Therefore,
TIR|O|M|N
7/8|2]0]5

In this question, we show that the sum of the
four numbers on the four sides is equal to the
central number.

From the figure (I)

12+16+21+24=73

From the figure (IT)

8+ 12+ 18 +36 =74

SOLUTION

10.

From the figure (I11)
?7+19+25+28=286
?7+72=286
?7=86-"72

?7=14

4w S5 .pg 6

+4 K@Q +6

o A5y 20,4

jan)

(B) Option (A) P25
+3 G

=

Option (B) D
+3

T
L

Option (C) I

+3C+4G+5L+6

=

Option (D) Z

(C) All conclusions follow.
(A) Only II follows.

Poor

(D) Only option (D) satisfies the relation
between bull, cow and chickens i.e. they are not
related to each other in any way.

OOO

(B) The expression Q—Z x U+ K can be drawn

as given below:

h/w
Q) ———— (+)
daughter
mother \ o
sister
() ——Uu ()

©

(oo

Both conclusion are follow.

H.O :- F-75, Manglam City, Kalwar Road, Jhotwara, Jaipur (Raj.), Mob. : 9602514332
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11. (C) After interchanging the signs (x and +) 17. (D) The pattern is:
=6+512+8-4x13

+4 +4 +4

=6+ 64— 52 I ==
=6+12 +4 +4 +4
Fr—————— | —————=— NC—_—R
=18
+4 +4 +4
12. (C) In this question, we show that- Gr— ——=—Ke———=—0— =5
] So, the last term would be MRS
Left H-I-I-H-I-I-H+I-I-I-I—I—|—I—I—I—I—I—I—I—I—I—H—HHH—\-H+H Right . .
B A 18. (A) On checking option A
Number of boys between A and B 6x 18+ 40+30-10=20
=42-(17+7) After interchanging the signs
=42 _24 =18 =6+18x40+30-10=20
The number of boys between A and B is 18. =6+18x4/3-10=20
13. (D) Since there is no‘T’involved in the =6+24-10=20
word PRECIOUS, therefore, RESTcan’t be =30-10=120
formed. =20=20

19. (A) It is not mentioned about rich and poor so
conclusion I does not follow.

Hence, option D is the correct answer.
14. (C) Except 169, all are multiples of 7.
15. (B) From Statement I:

A+B+C

And it is clearly mentioned about the industrial

revolution and modern age, so conclusion II

=20, A+B+C=60 follows.
20. (D) Ashish > Govind > kamal
From Statement II:
Kamal > Naren
A+B
=17.5, A+B= 35 Jeyanth > Naren
B4C Ashish > Jeyanth
i =225.B+C=45 Ashish > Govind > Kamal > Jeyanth > Naren
Or
The age difference between A and C is: ) )
Ashish > Govind > Jeyanth > Kamal > Naren
B+C)-(A+B)=45-35=10 o
Ashish is the tallest.

Thus, statement II alone is sufficient to answer . . . .
21. (D) According to the given information:

the given question.
(+) (+)

16. (C) It's logic: Manish — Arun —— Bavana(-)
207 +2 =209 ‘
209 +3 =212 (-)Chithra — Dinesh(+)
212 +5=217 (-) represents female

(+) represents male

21747 =224 Hence, Bhavna is Manish's sister-in-law.
224 + 11 = 235 22. (B)

235 + 13 = 248 @.@m
Each number that is being added is a prime

number Neither I nor II conclusion follows.
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23. (A) The speaker and the listener mutually form
the communication system.
Similarly, the film and the audience mutually
make up the cinema audience system.

24. (A) As per the given information we get;

Old Man(+)

Malini (+)—0Ild Man's Son(+)

Malini's son (+)
(-) represents female

(+) represents male
Thus, the Old man is the father of Malini.
25. (C) Both the statements together are necessary.
There are 25 students in the class.
8 students have scored less than Rashmi.
Rashmi's rank = 25-8
Rashmi's rank = 17
26. D)  +3 +5 +7 +9

| | |
181”

|
3|F 6G 11
+1 2 +3 +4

27. (D) Here is the pattern:
242 42 4242 42 42 42

T
MOQ SUW YAC

28. (C) The pattern is:
G—>7
EXCEL — 5+24+3+5+12 =49
Similarly, ACCEPT —1+3+3+5+16+20 = 48
29.(B) After solving the given expression we get;
(B36-4)+8-4
4x8-2x16+1
(32)+8-4
32-32+1
4-4

—=0
1

30. (B) As per the given information:

Renu(-) — Ajith(+)

Dinesh(+)—— Rakesh{+)
(-) represents female
(+) represents male
So, Dinesh is the son of Renu.
Hence, option (B) is the correct answer.
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